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QUESTION 1

About linkage between an eSpace Desktop and an IP phone, which of the following statements are CORRECT?
(Multiple Choice) 

A. An eSpace Desktop can be bound to only one IP phone. After the binding, they share the same number. 

B. After an IP phone and an eSpace Desktop are linked, they both show the talking status when either of them is
engaged in an ongoing call. 

C. After linkage is enabled, both the eSpace Desktop and IP phone can be connected at the same time. 

D. The eSpace Desktop and the linked IP phone can register with different U1900 models. 

Correct Answer: AB 

 

QUESTION 2

In the disaster recovery scenario, when the primary node is faulty, which of the following statements are CORRECT?
(Multiple Choice) 

A. On the standby node, you can run the show connectstates stationtype primaryserver command to query the
connection status between the primary and standby nodes. 

B. The status of the connection to the primary node is displayed as disconnected on the standby node. 

C. On the standby node, you can run the show workstatus command to query the working status of the primary node. 

D. The working status of the standby node is Deactivate. 

Correct Answer: AB 

 

QUESTION 3

In a multi-node centralized network, which of the following statements are CORRECT if the central node is disconnected
from a local node? (Multiple Choice) 

A. The local node becomes an independent IP PBX and accepts registration requests from SIP users. 

B. On the central node, the status of the local node\\'s users is displayed as FAULT. 

C. On the central node, the local node\\'s license information is not displayed. 

D. On the central node, the local node\\'s license information is still displayed. 

Correct Answer: ABC 

 

QUESTION 4
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In the eSpace Audio Recorder solution, HWLogIMP works in ( ) mode. 

A. C/S 

B. B/S 

C. A/S 

D. A/A 

Correct Answer: A 

 

QUESTION 5

In the local regeneration scenario, assume that user A is a SIP user in branch site 1 and user B is a PSTN user outside
branch site 1. User A calls user B through the gateway in branch site 1. In the case that local regeneration occurs in
branch site 1, RTP streams go through the following path after user A calls user B and the call between user A and user
B is set up: (). 

A. User A branch site 1 

B. User Acentral sitebranch site 1 

C. User A->branch site l->central site->branch site 1 

D. None of the above 

Correct Answer: A 
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